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model
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0.50.40.30.20.10.00.10.2

Fiber 2103, dchi2frac= 1.0
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Fiber 2442, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 2685, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data
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5.0
model
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0.10.00.10.20.3

Fiber 2687, dchi2frac= 1.0
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0.10.00.10.20.30.40.5

Fiber 982, dchi2frac= 1.0
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Fiber 2739, dchi2frac= 1.0
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data
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model
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0.00.10.20.30.40.5

Fiber 4152, dchi2frac= 1.0
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0.050.000.050.100.150.20

Fiber 1123, dchi2frac= 1.0
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data
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5.0
model

1.01.52.02.53.03.54.04.5
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0.20.00.20.40.60.81.01.21.4

Fiber 1421, dchi2frac= 1.0
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model
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Fiber 990, dchi2frac= 1.0
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model
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Fiber 4571, dchi2frac= 1.0
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model
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Fiber 4774, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data
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5.0
model
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0.080.060.040.020.000.020.04

Fiber 4856, dchi2frac= 1.0
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model

1.52.02.53.03.54.04.55.0
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0.00.51.01.52.02.53.0

Fiber 4087, dchi2frac= 1.0
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data
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model
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Fiber 2138, dchi2frac= 1.0
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model
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Fiber 4642, dchi2frac= 1.0
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Fiber 4514, dchi2frac= 1.0
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model
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0.00.20.40.60.81.0

Fiber 4713, dchi2frac= 1.0
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0.250.200.150.100.050.000.05

Fiber 589, dchi2frac= 1.0
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Fiber 2958, dchi2frac= 1.0
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model
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Fiber 619, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 4688, dchi2frac= 1.0
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1.01.52.02.53.03.54.04.55.0
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model
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Fiber 4106, dchi2frac= 1.0
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1.21.00.80.60.40.20.0

Fiber 2495, dchi2frac= 1.0
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Fiber 1120, dchi2frac= 1.0
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Fiber 789, dchi2frac= 1.0
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model
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1.00.80.60.40.20.00.2

Fiber 2187, dchi2frac= 1.0
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model
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1.501.251.000.750.500.250.000.25

Fiber 2318, dchi2frac= 1.0
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model
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Fiber 4615, dchi2frac= 1.0
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model
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Fiber 4664, dchi2frac= 1.0
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Fiber 2223, dchi2frac= 1.0
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model
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0.100.050.000.050.100.150.20

Fiber 1254, dchi2frac= 1.0
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Fiber 1334, dchi2frac= 1.0
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Fiber 2229, dchi2frac= 1.0
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0.20.00.20.40.60.81.0

Fiber 939, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals
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Fiber 4040, dchi2frac= 1.0
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Fiber 2935, dchi2frac= 1.0
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model
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Fiber 2676, dchi2frac= 1.0
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Fiber 1449, dchi2frac= 1.0
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model
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0.70.60.50.40.30.20.10.0

Fiber 1177, dchi2frac= 1.0
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model
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Fiber 2864, dchi2frac= 1.0
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1.52.02.53.03.54.04.55.0
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model
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0.50.40.30.20.10.00.10.2

Fiber 4145, dchi2frac= 1.0
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Fiber 2653, dchi2frac= 1.0
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model
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Fiber 654, dchi2frac= 1.0
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Fiber 415, dchi2frac= 1.0
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Fiber 1266, dchi2frac= 1.0
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Fiber 638, dchi2frac= 1.0
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Fiber 4601, dchi2frac= 1.0
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Fiber 4568, dchi2frac= 1.0
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Fiber 2501, dchi2frac= 1.0
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Fiber 2319, dchi2frac= 1.0


